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Finding the y-intercept

The yintereept of aparabla i the form az? + bz + s (0, ).

Ourfunction’s g(z) = ~12% — 6z G sits yinterceptis (0, ~6).

The solution
The vertexofthe parabolais at (3, 3) and the yinterceptis at (0, ~6).

Therefore, thi s the parabola:
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Graph the equation.
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‘The strategy

The cquationis in the standard form y = a2 + b + .

“To graph the parabola, we need s vertex and another point o the parabola.
b

« The vertex can be found using the formula for the z-coordinate, —

- The other point can b the yntercept, which nstandard formis simply (0, ).
Finding the vertex

“The z-coordinateof the vertex of a parabola i the form a2 + b = c s

isit posibe to fnd the vertex without this formula?]

Ourequations y = 22% — 82 + 3, so this s the z-coordinate of s vertex:

‘We can now plug 2 = 2nto the cquation tofnd the -coordiate of the vertex:
y=22°-8(2)+3

=2.4-16+3

=5

In conclusion thevrtexis a (2, ~5).
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Finding the y-intercept
The yintercept of  parabolan th form a2 + bz + cis (0, ).
Our cauationis y =22 — 8z + 3, soits yinterceptis (0, ).
The solution

The vertexofthe parabolais at (2, ~5) and the yintercept s a (0,3).

Therefore, thi s the parabola:
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Graph the equation.
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The strategy
The cquationis n the standard form y = az” + bz + .

“To graph the parabola, we need s vertex and another point o the parabola.
b

- The vertx canbe found using theformula orthe z-coordinate,

- The other point can b the yntercept, which nstandard formis simply (0, ).
Finding the vertex

The z-coordinateof the vertex of a parabola i the form z? + bz + ¢

isit posibe to fnd the vertex without this formula?]

Ourequationis y = =* + 4z + 4, 5o this s the z-coordinate of it vertex

3into the equation 0 find the g-coordinate o the vertex:

(-3 +4(-3)+4

9-12+4

3
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In conclusion, the vertex s at (3, ~2).

Finding the y-intercept

The yinercept of a parabol i the form az + bz + s (0,)
2

Ourcauationisy = 227 + 4z + 4, soits yintercepts (0, ).

The solution

The vertexofthe parabolais at (3, ~2) and the y-iterceptis at (0, 4).

Therefore, thi s the parabola:
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Graph the function.
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‘The strategy
The function’s n the standard fom g(z) = az* + bz + c.

“To graph the parabola, we need s vertex and another point o the parabola.
b

+ The vertx canbe found using theformula orthe -coordinate,

e cthrpein can b the i, ich i tacard o s sy (0,).

Finding the vertex

it bevs bt 5 i

isit posibe to fnd the vertex without this formula?]

Ourfunctonis g(z) = —12* — 6z — 6. so this s the z-coordiate o ts vertex:

‘We can now plug = —3nto the equation o find the y-coordinate o the vertex:

=132 -6(-3) 6

~1.9+18-6

3

I conclusion,the vertexis at (~3,3).




